O R&REHE (1 2 &)

= 1cm 50cm 1m = | o 4 = ° 4« 5
No. PR BENE | BAE | BE [ BAE [ BAE | BXE B ERIE 5 R A2 hH
1EEREBE 0. 05 0.07 0.05 0.06 0.05 0.06|m15 10
00 EBE 0.05 0.10 0.06 0.08 0.06 0.07|BERmEA (KOTF) 12
JBEREE 0.04 0.04 0.04 0.04 0.04 0. 04 |EREDH R 7
A=Y ERBEE 0.04 0.04 0.04 0.04 0.04 0. 04 |EREH R 4th 6
SIAHBREBE 0.06 0.06 0.06 0.06 0.06 0.07|BERmAEA (KOTF) 10
I ABAERBERE 0.04 0.05 0.04 0.05 0.04 0. 05|EREHR = 10
NINEFYAIL KR — 0.04 0.05 0.04 0.05 0.04 0. 05|m15 10
S|BEREE 0.04 0.05 0.04 0.04 0.04 0. 04| =B kL5 5
IITHEEE 0.03 0.04 0.03 0.05 0.03 0. 04| &1Ll 10
10/EAESE 0.03 0.04 0.03 0.04 0.03 0.04|7—)rh 10
N EHEESE 0.04 0.07 0.03 0.06 0.03 0.060|E&mMA (HEKiE) 9
2\ FEARRBE 0.05 0.06 0.05 0.05 0.05 0. 05| Bk LMERT (KOTF) 8
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